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Part B con51sts of 5 Umts Answer any one full questlon from each unit.
Each question carries 10 marks and may have a, b, c as sub questions.

PART- A
T T :121 T .;:C:: jiﬁﬁ 5:2]: (ZS'MaifI(s)
Flnd dlv(x l+xz] Z k) = Teame Tendt e T ‘[2]
State divergence theorem. (3]

Iff(x)=xin(0,27)and f(x+ 27r) = f(x) then find ag in fourier series.[2]

If the founer cosine tranform ofe™ is . then find the fourier sine:.

i K (Frad) COR Pt
transform of xe ™ (3]
Ifh=1, evaluate A*(2x* +3). [2]
Find the linear polynomial satisfied by f(4)=9.5 and f(7)=16.5 by Lagrange’s
method.... . o [3]...
Find twd.values of x betw'eéﬁ which the rb’oi'b‘f x loglo x=12 lies. ) e
2 5
Find LU decomposition of A = { o O}' [3]
p x 1
If h =1, ¢valuate J. b ysimpson’s — rd rule. 12].
o (4x +5) . ._13_ e, i

If % =1-2xyy (0) =0 then find y(0.1) by Taylor’s series method taking upto 2
differentials. (31
PART-B i g
If F = (x+y +1)i+ j—(x+y)k, then show that F curl F =0
Evaluate J' F.dr where F =3xyi—y®j and C is the parabola y=2x* from (0,0) to
C

1,2) . R [5+5]
- SO OR.- - oo R

Verify stokes theorem for F =(x* + y))i—2xy i taken around the rectangle bounded

by the lines x=+a,y=0,y=>b. [10]
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4.a)

b)

S

Obtain the Fourier series for
F0) 1, 0< x < 1
AR X)=4<." """
"""" 2, 1< x <3

and f{x)=f(x +3).

Find the fourier sine transform of ¢™ and hence evaluate _[ xlsm n21x dx . [5+5]
.0 _..+x S g
OR ... gnice gl E
x,0<x< z
Obtain cosine series for the function f(x) = :
7w
T—x,—<x<r
2 .
If 7(s) ""F‘[’f(r)] then prove that FI#' £{H1Z (—i) & ;; f‘*‘) {545

Use Newton’s Backward difference formula to find the area of a circle when the

diameter is 1_05, the area for different values of diameter are given below:
! d| 80 8 90 95 100

A [ 5026 | 5674 | 6362 | 7088 | 7854

x| 0|5 |1015]20]25
12 |15 17122 |24 |30

Fit a straight line

[5+5]

Fit a second degree parabola to the following data using method of least squares.
[10]

o123 |4
y41|1.8]|1.31.25 |63

Test the consistency of equations 3x +3y+2z=1, x + 2y =4, 10y 43z = - 2. Solve

them if they are consistent by LU decomposition method. [10]
OR

Find a real root of the equation x sin x+cos x=0, using regula falsi method.

Explam_ghqlnterpret Newton’s method (i(}zometrlcally :;;;: ?:;j; L5~|'-5:]

Given thaty'=x"+y* y(0)=1 determine y(0.1) and y(0.2) by modified

Euler’s method. [10]
OR
Find the.values of y(0.23), y(O 5) and y(O 75) by finite dxffcrence method,: glven
that, y "‘3y'+2y 6,y(0)=1,y(l)=1."""" “[1oy
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